1415080, 080> |4 5090,,, 090> |4 5 0¢0,, ‘uonepiiod ardurs Jo 8uans £q papeys a1e [ ‘UOHRULIOJSURT) WILIEZO] [eINJeN f

0T ,..290 ,,050 <I'0 ¥0°0— 20'0— 6I'0—- ,,870- ,,.0V0— ,,,0£0- ¥CT0— 110 vTo0 90'0 80°0 900 60°0— 100 SO0 S00 00— S0°'0— 9uUgTLO
- 01 890 €00— 100 T00— ¥CO0— ,,650— STO0— ,,.690— ,.060— L00 970 €0'0 €0'0— 600 6I'0— 8I'0— Z00— STO 60— 10— 9u¥y:TCO
— — 0T ,,.I€0- TC0- ¥0°0— ,,.LV0— ,.,£€0— TIC0— ., WP 0— ,,C€0— OT0— OO 000 8T'0 ¥0°0— LZTO— ¥C0— ¢TI0 ,,I€0 ,.6€0— 9T0— 9Uy:0CO
— — — 01 20 010 ral] Co0—  9Io— 0C0— 01°0 910 €0'0 I0°0— 000 T00 €00 €70 Too0— Iro— 40} 6I'0 9uU¢:0CO
— — — — 0T €00— ,,S¥°0 LO0— LTO—- 0C0— 170 10°0 <00 IIo— €0°0— ZI'0 9T'0— ¢Io— 800 SO0— 600— €I0— 9Uz:0CO
- - - - - 01 90°0 6I'0— 70— 10°0— 80°0 o €00— ¥0'0— 00— oro— <¢ro ,,8¢0 ¥0'0— 6T0— YAl +0€°0 9UEBID
— — — — — — 01 SC0—  ,,.C€0— PI0- +9€0  FI0 o €ro €0°0— 900 910— 000 900— 9C0— T00— €ro  oug:g8ID
- - - - - - — 01 170 L,,.040 TO0— SCTO0— 9T0— LO0O— 800 TO0— 800— 8I'0— <TI0 €00 000 SI'0—  €U9:TcO
— — — — — — - — 01 w790 1000 9T'0— €I'0— 20°0— €0°0— £00— 60°0— €I'0— €0°0— ZIO 000 80°0— ¢usTTO
— — — — - — - - - 01 sro  6I'0— ,,.¥€0— 80°0— 000 900— TO0O 600 SO0 800 vT0 cro  €us0ed
- - - - - — - - - - 01 cro  1000— 10°0— €00 0T0— 000 ¢€Io €00 0T0- ¥1°0 970 ,CUe8ID
- - - - - - - — — — — 01 890 ,,C¥0 CI'o— 1Io— 900 ¥#I'0 SI'0— 4ZI'0— ¥0°0— 170 17:81D
— — — — — - — — — — — — 01 57’0 0I'0— 000 90°0— 6I'0— 8I'0— S00— ,,.8¢0— L00— H:8IO
- - - - - - - - - - - - - 0T S00- €00 €00— ¢ro— 900— %00— 8TO0— 1o H91D
— — — — — — — — — — — — - — 0T %00 100— 80— ,¥80 <00— ,,9¢0— 9I'0— %O
- - - - - - — - - - - - - - - 01 SI'o <s00— €ro 00— 8I0— LI0— 02O
- - - - - - - - - - - - - - - - 0T ,.,2¢0 800 ,.8¢0— 0T0 110 1-810
- - - - - — — — — — — — — - — — — 0T O0ro— ,.,9¢0— ,,.990 ,,650 191D
- — - - - — — - - - - — - - - - - - 01 91'0— 8C0— 910— 0-%CO
- - - - - - - - = - - - = = = = = = = 0T .50~ ,,960- 08D
- - - - — - — — — — — — — - — — — — — — 01 070 091D
— — — — — - — — — — — — — — — — — — — — — 0’1 071D
GTCO 7O #0070 €0CO T0TO €8I0 TBIO  9:TCO  STTO <070 €810 ITBIO MBIO 91O 9O T1:0CO [:BID 91D 0:F%CO 081D 0910  0FIO
parernjesun£[od 9-edowQ parernjesuni[og ¢-eSowQ SueIy, P9IeINJESUNOUOA pajernjes

“(961€ = N) SUOLIR[21I0D) POV A)ef DY T 414V,



